

HW 11 due tonight!

- I'm going to grade it Fri @ 3 pm Feel free to upload it before then.

Last time --.

 $e^{A} = I + A + \frac{1}{2}A^{2} + \frac{1}{31}A^{3} + \cdots$

 $= \sum_{n=0}^{\infty} \frac{n!}{1} A^n$

e At Solin to

what is e^A?

But what is ut explicitly? How do you calculate it?

Prop. et respects change à basis.

If
$$A = SJS^{-1}$$
 then
$$e^{A} = Se^{J}S^{-1}$$

The
$$D = \begin{pmatrix} d_1 \\ d_2 \end{pmatrix}$$

The $D = \begin{pmatrix} e^{A_1} \\ e^{A_2} \end{pmatrix}$
 $D = \begin{pmatrix} e^{A_1} \\ e^{A_2} \end{pmatrix}$

• If
$$AB = BA$$
 +h.
 $e^B e^A = e^{A+B} = e^A e^B$

$$e^{A} = \sum_{n} \frac{1}{N} A^{n} = \sum_{n} \frac{1}{N} \left(SJS^{-1} \right)^{n}$$

$$= \sum_{k,l} S J^{n} S^{-l} = S \left(\sum_{k,l} J^{n} \right) S^{-l}$$

$$e^{D} = \sum_{k} \frac{1}{k!} \left(\frac{d_{i}}{d_{k}} \right)^{n} = \sum_{k} \frac{1}{k!} \left(\frac{d_{i}}{d_{k}} \right)^{n}$$

$$= \begin{pmatrix} \sum_{k}^{1} \lambda_{k}^{n} \\ \sum_{k}^{1} \lambda_{k}^{n} \end{pmatrix} = \begin{pmatrix} e^{d_{1}} \\ e^{d_{2}} \\ e^{d_{k}} \end{pmatrix}$$

• If
$$AB = BA$$

$$C = I + (A+B)^{2} + \frac{1}{2}(A+B)^{2} + \frac{1}{3!}(A+B)^{3}$$

$$\frac{1}{2}(A+B)^{2} = \frac{1}{2}(A^{2} + AB + BA + B^{2}) + AB + BA$$

$$\frac{1}{2}(A^{2} + 2AB + B^{2}) + AB + BA$$

$$\frac{1}{2}(A^{2} + 2AB + B^{2}) + AB + BA$$

$$\frac{1}{2}(A+B)^{2} + AB + BA$$

$$\frac{1}{2}(A+B)^{$$

$$e^{A+B} = I + (A+B) + \frac{1}{2}(A^2 + 2AB + B^2) + \frac{1}{3!}(A^3 + 3A^2B + 3AB^2 + B^3) + \dots$$

 $= \left(I + A + \frac{1}{2}A^{2} + \frac{1}{3!}A^{3} + \dots \right) \left(I + B + \frac{1}{2}B^{2} + \frac{1}{3!}B^{3} + \dots \right) AB = BA$ $= e^{A}e^{B}$

Ex Compute e (1-13) $\begin{pmatrix}
1 & -1 \\
1 & 3
\end{pmatrix}.$ Find the Jordan decomposition · e 5 55-1 = Se 5-1 $\begin{pmatrix} 1 & -1 \\ 1 & 3 \end{pmatrix} = \begin{pmatrix} -1 & 2 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} 2 & 1 \\ 0 & 2 \end{pmatrix} \begin{pmatrix} -1 & 2 \\ 1 & -1 \end{pmatrix}^{-1}$ generalized ergenvector $e \begin{pmatrix} 1 & -1 \\ 1 & 3 \end{pmatrix} = \begin{pmatrix} -1 & 2 \\ 1 & -1 \end{pmatrix} e \begin{pmatrix} 2 & 1 \\ 0 & 2 \end{pmatrix} \begin{pmatrix} -1 & 2 \\ 1 & -1 \end{pmatrix}^{-1}$ $= e^{\begin{pmatrix} 2 & 0 \\ 0 & 2 \end{pmatrix} + \begin{pmatrix} 0 \\ 0 & 0 \end{pmatrix}}$

AB = BA

In fact
$$\binom{20}{02}\binom{01}{00} = \binom{01}{00}\binom{20}{02}$$
 thus out

A, N always

Change

Chan

Sup M Put it an together?

$$e^{\begin{pmatrix} 1 & -1 \\ 1 & 3 \end{pmatrix}} = \begin{pmatrix} -1 & 2 \\ 1 & -1 \end{pmatrix} e^{\begin{pmatrix} 2 & 1 \\ 0 & 2 \end{pmatrix}} \begin{pmatrix} -1 & 2 \\ 1 & -1 \end{pmatrix} e^{\begin{pmatrix} 2 & 0 \\ 0 & 2 \end{pmatrix}} \begin{pmatrix} -1 & 2 \\ 1 & -1 \end{pmatrix} e^{\begin{pmatrix} 2 & 0 \\ 0 & 2 \end{pmatrix}} \begin{pmatrix} -1 & 2 \\ 1 & -1 \end{pmatrix} e^{\begin{pmatrix} -1 & -2 \\ 0 & 2 \end{pmatrix}} \begin{pmatrix} -1 & 2 \\ 0 & 1 \end{pmatrix} e^{\begin{pmatrix} -1 & -2 \\ -1 & -1 \end{pmatrix}}$$

$$= \begin{pmatrix} -1 & 2 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} e^{2} & 0 \\ 0 & e^{2} \end{pmatrix} \begin{pmatrix} 1 & 1 \\ 1 & 1 \end{pmatrix}$$

$$= \begin{pmatrix} -1 & 2 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} e^{2} & e^{2} \\ 0 & e^{2} \end{pmatrix} \begin{pmatrix} 1 & -2 \\ 1 & 1 \end{pmatrix}$$

$$= \begin{pmatrix} -1 & 2 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} e^{2} & e^{2} \\ 0 & e^{2} \end{pmatrix} \begin{pmatrix} 1 & -2 \\ 1 & 1 \end{pmatrix}$$

$$= \begin{pmatrix} -1 & 2 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} e^{2} & e^{2} \\ 0 & e^{2} \end{pmatrix} \begin{pmatrix} 1 & -2 \\ 1 & 1 \end{pmatrix}$$

$$= \begin{pmatrix} 1 & -1 \\ 1 & 3 \end{pmatrix}$$

$$= \begin{pmatrix} 0 & -e^{2} \\ e^{2} & 2e^{2} \end{pmatrix}$$

Idea: These steps work for all matries.

$$S_{tep}$$
 \ \left(\frac{7}{-4} \frac{8}{5} \right) = \left(\frac{-1}{1} \frac{2}{5} \right) \left(\frac{-1}{6} \frac{2}{3} \right) \left(\frac{-1}{1} \frac{2}{5} \right)^{-1}

$$e^{\begin{pmatrix} 78 \\ 4-5 \end{pmatrix}} = \begin{pmatrix} -1 & 2 \\ 1 & -1 \end{pmatrix} e^{\begin{pmatrix} -1 & 0 \\ 0 & 3 \end{pmatrix}} \begin{pmatrix} -1 & 2 \\ 1 & -1 \end{pmatrix}^{-1}$$
Step 2, Step 3

$$\begin{pmatrix} 7 & 8 \\ -u-5 \end{pmatrix} = \begin{pmatrix} 2e^3 - e^{-1} & 2e^3 - 2e^{-1} \\ -e^3 + e^{-1} & -e^3 + 2e^{-1} \end{pmatrix}$$

$$\begin{pmatrix}
0 & 0 & 0 \\
0 & -i & 0 \\
0 & 0 & i
\end{pmatrix}$$

$$= \begin{pmatrix}
e^{\circ} & 0 & 0 \\
0 & e^{-i} & 0 \\
0 & 0 & e^{i}
\end{pmatrix}$$

$$e = \cos(x) + i\sin(x)$$

 $\chi = \theta$ age

$$e^{i\frac{\pi}{2}} = \omega s(\frac{\pi}{2}) + i sin(\frac{\pi}{2}) = i$$

$$\chi = 1$$
, $e^{i} = \omega \chi(i) + i \sin(i)$

$$\frac{dx}{dt} = -3$$

$$\frac{dy}{dt} = 2$$

$$\frac{dy}{dt} = 2$$

$$\begin{pmatrix} \chi(t) \\ \chi(t) \end{pmatrix} = \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} \chi(t) \\ \chi(t) \end{pmatrix}$$

$$\begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix} = 0$$

$$\chi^{2} + 1 = 0$$

$$\chi = \pm i$$

$$\begin{aligned}
\chi &= i \gamma \quad \gamma \quad h u \\
V_{i} &= \begin{pmatrix} \chi \\ i \gamma \end{pmatrix} = \begin{pmatrix} i \gamma \\ i \gamma \end{pmatrix} = \begin{pmatrix} i \\ i \end{pmatrix} \gamma \quad v = \begin{pmatrix} i \\ i \end{pmatrix} \\
V_{-i} &= span \begin{pmatrix} -i \\ i \end{pmatrix} \begin{pmatrix} i & -i \\ i & 1 \end{pmatrix} \begin{pmatrix} i & -i \\ i & -i \end{pmatrix} \begin{pmatrix} i & -i \\ i & 1 \end{pmatrix} = \begin{pmatrix} i & -i \\ i & 1 \end{pmatrix} \begin{pmatrix} i & -i \\ i & -i \end{pmatrix} \begin{pmatrix} e^{i} & 0 \\ 0 & e^{-i} \end{pmatrix} \frac{1}{2i} \begin{pmatrix} i & i \\ -1 & i \end{pmatrix} \\
&= \begin{pmatrix} i & -i \\ i & i \end{pmatrix} \begin{pmatrix} e^{i} & 0 \\ 0 & e^{-i} \end{pmatrix} \frac{1}{2i} \begin{pmatrix} i & i \\ -1 & i \end{pmatrix} \\
&= \frac{1}{2i} \begin{pmatrix} i & i \\ i & i \end{pmatrix} \begin{pmatrix} e^{i} & 0 \\ 0 & e^{-i} \end{pmatrix} \begin{pmatrix} 1 & i \\ -1 & i \end{pmatrix}$$

$$= \frac{1}{2i} \left(\frac{ie^{i} - ie^{-i}}{e^{i} e^{-i}} \right) \left(\frac{i}{-1i} \right)$$

$$= \frac{1}{2i} \left(\frac{ie^{i} + ie^{-i} - e^{i} + e^{-i}}{e^{i} + ie^{-i}} \right) \left(\frac{ie^{-i} + ie^{-i}}{e^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{ie^{i} + ie^{-i} - e^{i} + e^{-i}}{e^{-i} + ie^{-i}} \right) \left(\frac{ie^{-i} + ie^{-i}}{e^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{i} - e^{-i}}{e^{-i} + ie^{-i}} \right) \left(\frac{e^{-i} + ie^{-i}}{e^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{i} + ie^{-i} - e^{i} + e^{-i}}{e^{-i} + ie^{-i}} \right) \left(\frac{e^{-i} + ie^{-i}}{e^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{i} + ie^{-i} - e^{i} + e^{-i}}{e^{-i} + ie^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{i} + ie^{-i} - e^{i} + e^{-i}}{e^{-i} + ie^{-i}} \right) \left(\frac{e^{-i} + ie^{-i}}{e^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{i} + ie^{-i} - e^{i} + e^{-i}}{e^{-i} + ie^{-i}} \right) \left(\frac{e^{-i} + ie^{-i}}{e^{-i} + ie^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{i} + ie^{-i} - e^{i} + e^{-i}}{e^{-i} + ie^{-i}} \right) \left(\frac{e^{-i} + ie^{-i}}{e^{-i} + ie^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{i} - e^{-i} + ie^{-i}}{e^{-i} + ie^{-i}} \right) \left(\frac{e^{-i} + ie^{-i}}{e^{-i} + ie^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{i} - e^{-i} + ie^{-i}}{e^{-i} + ie^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i} + ie^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{i} - e^{-i} + ie^{-i}}{e^{-i} + ie^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{i} - e^{-i} + ie^{-i}}{e^{-i} + ie^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{i} - e^{-i}}{e^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{i} - e^{-i}}{e^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right) \left(\frac{e^{-i} - e^{-i}}{e^{-i}} \right)$$

$$= \frac{1}{2i} \left(\frac{e^{-i} - e^{-i}}$$

are forishr (Fr. 3pm) HW " 12/17 Usual time 12-3 Office tes tomorou 12/18 12-3 Office Hrs Frdy Final monday 12/21 1:30 - 7:10

 $W_2 = \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} -2 \\ -1 \\ z \end{pmatrix} = \begin{pmatrix} -1 \\ 0 \end{pmatrix} + \begin{pmatrix} 0 \\ -1 \\ 0 \end{pmatrix}$ Where $A = \begin{pmatrix} 1 \\ 0 \\ 0 \end{pmatrix} + \begin{pmatrix} 1 \\ 0 \\ 0 \end{pmatrix}$

$$W_{2} = \begin{pmatrix} 0 \\ -1 \\ 0 \end{pmatrix}$$